# Dividing with a Numberline Name:

Use the numberline to solve each problem. Answers
1) 18+9=9g 10 18 20
L L e A e N R 1
2.
2) 15+5=g 10 15 20
R e S T R R S B U S A R 2 3
4,
3 8+2=¢ 8 10
R T T A F S T S I RN 2 :
4) 16+4=¢ 10 16 20 °
R R B O LA F LA R A R S S B R URR BN AR Y 2
7.
5) 40+10=g 10 20 30 40 8.
9.
6) 4-2= 4 10
10.
R e R T e T e
11.
7) 45:9=¢ 10 20 30 40 45 50
8) 15+3=¢ 10 15 20
<H————t—+—+—+—+f+—+—+—+—+—+—+—+—+}+—+—+—>
9 28+7=g 10 20 28 30
RN SRR N T A NN A A AN N NN N S AR T NS >
L L
10) 16+8=¢ 10 16 20
I I I I I I I I I } I I I I I I I I I I I I } >
11) 8+4=¢ 8 10
I I I I I I I I I I I I I I I I >
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Ch Dividing with a Numberline Name: Answer Key

Use the numberline to solve each problem. Answers

1) 18:9= K—N@/N8 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 I 1 1 1 1 | 1 1 1 1 | > 1. 2

2. 3

2) 15+5= W5 20
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 I 1 1 1 > 4

3) 8:2= 10

4) 16+4= 10 6 20

Y Y i s P

0 42 10 o 2

11 2

8) 15:3= 0 5 20

9) 28+7= 10 8 30

10) 16:8=9 ———— 0 16 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 | ' 1 1 1 | 1 1 >

11) 8+4=g 8 10
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